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VDI GROUP
D )| 15 8- 10-11 12-13 14 1516 17418 | 2125 | 3137 38
EMG GROUP
b I | K 13-14 15 21,23 22 3132 31 7174 41-53 16
ETH1004 220 - 480 | Z30 - 420 - - - 170 - 420 | 120 - 410 - - -
ET3C 170 - 450 | 180 - 380 | 100 - 330 - - 120 - 300 | 120 - 280 - - -
ET32C 180 - 380 | 110 -330 | &0 -300 - - - - - - -
ug‘ ET33C | 150-350 | 90-300 | 70-250 | 120-220 | 50-180 - - - 35 - 80 -
ES
- ETZ21P - - - 130 230 | 104 - 200 - - - 30 - 90 -
ET23P . - - 110-180 | 40-130 - - - 20 - 40 .
ET24P - - - B0 - 150 30 -120 - - - 20 -40 -
ETEM 120 - 200 | 70 - 230 70 - 180 - - 6l - 160 &l - 120 - - 40 - 80
Inseart E E min X min | max min | max min Mix min max | min | max min | max min | max min Mmax min My
s
CHMA 1204 fn 015 0.50 | 015 | 05D 0.1 | D45 = = = = 0.15 | 050 015 | 0.50 = = = = =
ap 0.5 5.0 os .0 .5 4.5 = = = = 0.5 =0 0.5 £ = = = = =
fn 0.20 | 0.50 | O.=0 | O.ED | O.30 | Q45 = = = = 0.30 | 0=0 0.30 | O.50 = = = = =
CHBA 1606..
ap 1.5 6.0 15 E.O 1.0 £5 = = = = 1.5 (] 1E 6.0 = = = = =
T f |o3o | oso | oo |oso | oso |oas | - - - - | o030 (eso| oao | os0 | - . - - -
op |15 [ 70 |15 |70 | 15 | &5 | - - - - |15 70| 15| 70| - . - - -
CNMG 1204 | ™ |oos | 025 | eos | o2s | 0os [ ez0 | oos | 020 | cos | o2z | oos [ o2s | oos |02 | - - | oos | ozo | ops | oas
BF op |05 |25 | o5 |25 o5 | 20 |os | 20 | os | 25 | o5 | 25 | o | 25 | - - |os | 20| os | 18
CNMG1204_ | ™ - - - - - |oo7 | o020 |oor | Das| - - - - - - |oo7 |ozo| -
MF ap = = = = = 0AS 1.4 [ B 1.7 = = = = = = (0 = 14 =
CHNMG 1204 fn 0.0 | 0.30 | OO5 | 0,30 | 005 | O=25 0.0S | 025 | Qs 0.20 | 0.0 | 020 0.0S | O30 = = 0.0= 0z5 | 0.05 | 020
BL ap 1 3.5 os 3.5 .k 20 0.5 3.0 os 15 0.5 35 (11 25 = = 0.5 20 0.5 25
CHNMNG 1204 fn 0. 0.45 | O30 | D45 020 | 040 020 | 040 | 00 0.45 | 020 | 045 020 | O04E = = 020 040 | 020 | O.35
BG ap 0.s 4.0 os 4.0 .5 35 0.s 3E s 4.0 0.5 40 0.5 40 = 0.5 3= 0.5 20
CNMG 1204 | ™ |05 | 030 [ s | o3e | 045 |25 | oos | 025 [ os | oo | 0as [ o30 | 0as | oan | - - |oas |ozs| -
BM op |05 [ 20 |os |20 (o5 |15 |os | 15 |os | 20 [ o5 |z | s | 20 | - - |os |15 ]| -
CNMGI204 | f |00 | 035 | o020 (oo3s | o20 (o030 |o2o | 030 |oz0 | pas | - - - - - - | n2o | oo
MM ap 10 3.5 1.0 35 1.0 in 1.0 3.0 1.0 35 = = = = = = 1.0 30 =
CHNMG 1204 fn 0.2 | 0.55 | O.25 | 55 | 025 | O=0 0.25 | O0.50 | O=5 0.E5 | 025 | As5 025 | 055 = = 0.25 oS0 =
BC ag 0.5 45 os 4.5 .5 40 0.5 40 os 4.5 0.5 45 (11 45 = = 0.5 40 =
CHNMG 1204 fn 0= 0.e0 | O.25 | O.6O 025 | O.=0 025 | O0.50 | O=25 0.e0 | 025 | os0 025 | 0.60 = = 025 0=s0 | 0.25 | 045
ER ap 1.0 5.0 1.0 co 1.0 45 i.o 4L 10 E 1.0 =0 1.0 S = = 1.0 45 1.0 40
CHMG 1204 | T - - 03z | os5s | oss | oeo | - - - - - - |nas|oss| -
MR ap - - - - - 1.2 | 50 | 12 | 5= - - - - - - 18 | 50 | -
DMMG 1504 | ™ |oos | oes [ eos | oas | oos [ ez | oos | 042 [ oos | oos | oos | es | oos | 0as | - - | omos | oz | ops | oo
BF ap (1 1.5 os 1.5 0.5 12 0Ls 1.2 os 1.5 0.5 15 0.5 1.5 = = 0.5 12 0I5 10
DIMMIG 1504 fn 0.20 | 0.35 | O30 | .30 | 020 | O=25 0.20 | 020 | O=0 0.25 | 025 | 045 025 | 04 = = 0.20 0z5 | 0.20 | 020
BG ap 1.0 2.5 1.0 2.5 1.0 0 1.0 2.5 10 5 1.0 30 1.0 3.0 = = 1.0 z0 1.0 148
DNMG 1504_ | ™ | o045 | 025 | mas | pas | oas | o200 | - - - - | o4s | g2s | oas | o2s | - - - - -
BM Bp, 1 1.5 os 1.5 .5 12 = 0.5 1= D.E 1.5 =
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D1 B e gy | 15 88 10-11 12-13 14 15-16 17418 | 2125 | 317 28
Eue e gy | 1112 13-14 15 21.23 22 3132 23 7174 | 4153 18
ETI0M | 220 - 480 | 220 -420 - - - 170 - 420 | 120 - 410 - - -
ET31C AT0 - 450 | 180 -380 | 100 - 330 - - 120 - 300 | 120 - 280 - -
ET32C 180 - 380 | 190 -350 | &0 -300 - - - - - -
=
}:."E ET33C 130 -350 | 90 - 300 T -250 | 120 -220 | S50 -180 - - - 35-80 -
ET21P - - - 130 -230 | 100 - 200 - - - 20 -90 -
ET23P - - - 110 -180 | 40-130 - - - 20 - 40 -
ETE&01 120 -200 | 70 - 230 T - 180 - - &l - 160 60 - 120 - 40 - B
Insert E E min | max | min | max min s min | max | min | max min | max min | max min | max min | max min i
DNMG 4504, | n | 020 (035 | 020 | o35 (o020 | 030 | o20 (oo | o020 | o3s | - - - - - | o2 | 030 | - -
Mt ap | 18 | 35 | 10 | 35 | 18 | 30 | 10 | 2@ | 10 | 25 - = - = - 10 | 3o - -
DNMG 1504 | ™ | 025 |4z | 025 | o4s | 025 | oo - - |o2s | o4z | o25 | Das | - - - - - -
BC ap 10 30 1.0 30 10 25 = = 1.0 3.0 1.0 30 = = = = = =
DNMG 1504 | *n | 230 | 04s | 030 | 045 | 030 | .40 - - | D30 | D45 | 030 | Das | - - - - - -
ER ap 10 35 1.0 25 10 3.0 = = 1.0 1.5 1.0 15 = = = = = =
fn oS 04s .15 045 ois 0.40 - - ois 04c ois 045 - - - - - -
DA 1506,
ap 10 4.0 1.0 4.0 10 3E - - 1.0 40 10 4.0 - - - - - -
DMBAG 1506, n oas 0LEE | 0.0 025 0LDs | 0.20 ouas 0.0 0.0s 025 - - - - - oos 020 ons ois
BF ap 10 s 1.0 35 10 3.0 1.0 30 1.0 35 = = = = = 1.0 3.0 10 25
DNMG 4506, | n | oos (030 | oos | 030 (oS | 025 | oos | ozs | oos | oz0 | - - - - | mps | 025 | oos | o2o
BL an o5 3o 0.5 EN ] 0s 25 o5 25 0s 20 = = = = LS 25 ons 2.0
DNMG 4506, | n | 020 (040 | 020 | o0 (020 | 035 | 020 (02s | 020 | o0 (D20 | 040 |oz0 |D4o | - - | 20| 03s | 020 | pao
BG ap os is aE a5 {1 3.0 os i 0c 35 {18 iE os is5 - - 0E 3.0 s 215
DMBAG 1506, fn o5 (1 0.15 o35 ois 0.30 o115 030 .15 035 - - - - (1 [ 0.30 - -
BM map |05 | 20 [ os | 20 [os | 15 [ o5 | 95 | os | za = = = = s | 15 = =
DNMG 4506 | | o=0 (035 | 020 | o35 (o020 | 030 | o20 (030|020 |o3s | - - - - - | o2 | o030 | - -
MM ap o5 20 as z0 0s 15 o5 1.5 0s Z0 = = = = = {1 15 = =
DMMG 4506 | T | 025 [ D045 | 025 (D45 | 025 | 040 | 025 | D40 | 025 (045 | 025 | 045 | o265 | pas | - - | p2s | oo | - -
BC ap 10 is 1.0 15 10 3.0 10 i 1.0 35 1.0 3.E 10 is5 - - 1.0 30 - -
DNMG 4506, | *n | 030 (o0 | 030 |oso (020 | 048 | o030 (p4s | 030 | cso (pao | ose | oz | oso | - - | p3o | o2 | 020 | Dao
BR ap 15 40 1.5 4.0 15 3.5 1.5 is 1.8 4.0 15 40 1.5 4.0 - - 1.E 5 15 a0
n oia 040 0.10 o0 (1 [ o]} 0.3s o.10 (1 0.10 040 oo 040 oqa 040 = = (1) [u]} 0.35 oqa o3
KMUE 1604,
ap o.s (-] .5 & os 5.5 o5 S5 0s & {1 6.0 s B.0 = = ILE 5.5 os E0
n (. 1] 0.40 | 0.20 o.=a 0.0 | 0.3s = = oz 040 | 0z0 040 = = = = = =
SNMA 1204..
L] 10 - | 1.0 =0 10 4L = = 1.0 .0 1.0 co = = = = = =
SHNMG 1204 . fn oas {1 | 0.05 o2 o.os o1& ouas bAs 0.0s o0 oos 020 ons 0.0 - - o.os 0.15 ons oo
BF ap os 15 0.5 158 os 12 o5 1.2 1 1.5 {18 1. o5 15 - - ILE 12 s 1.0
SNMG 1204 n oia 030 | 0.10 o030 00 | 0.25 o.10 {1 0.10 o0 oo 0.30 | o410 0,30 - - (10 [u]} 02c oqa 0z
BL ap 10 30 1.0 30 10 25 1.0 5 1.0 30 1.0 3.0 1.0 30 = = 1.0 25 10 2.0
SHNMG 1204 . n o030 =S 0.30 055 020 0.50 0.30 (i) 0.30 oS5 030 0.55 o=0 1 = = 030 0.50 o0 0as
BG ap 10 4.0 1.0 40 10 35 1.0 is 1.0 4.0 1.0 A0 1.0 4.0 = = 1.0 35 10 el
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VOl GROUP
O )| 18 8-0 1011 | 1213 14 1516 | 1748 | 2128 | 3137 ag
EME GROUP
R e | 1112 13-14 15 21, 23 22 31-32 33 7174 | 4153 18
ET1001 220 - 480 | 20 - 420 - - - 170 - 420 | 120 - 410 - - -
ET3C 170 - 430 | 180 - 380 | 100 - 330 - - 120 - 300 | 120 - 280 - - -
_| ETac | 41s0-380 | 110-350 | 60-300 - - - - - - -
=
EE ET23C 150 -350 | S0-300 | TO-250 | 120 -0 | S0-180 - - - 35 - 80 -
ET21P - - - 130 -230 | 104 - 200 - - - 30 -30 -
ET23P - - - 110 - 180 | 40-130 - - - 20 -40 -
ETE0 120 -200 | TO-230 | TO-180 - - ol -160 | &0-120 - - 40 - 80
Irisert E E min | max min | max | min | max min | max min | max | min | max min | max min | max | min | max min | maEx
=
SHMG 1204 fn 0.20 | 0.45 | OO0 | 0,45 | 020 | 040 | 020 | 040 | O20 | 045 | D20 | Q45 | 020 | 045 = = 0.20 | 0.4 = =
BC ap 1.0 4.5 1.0 4.5 1.0 4.0 1.0 4.0 10 4.5 1.0 4= 1.0 410 = = 1.0 40 = =
SHNMG 1204 fn 0.20 | 0.e0 | O30 | 06D | O30 | OS5 | 0,30 | 055 | O30 | O.eD | D30 | Oe0 | 030 | 060 = = 0.30 | 0S5 | 0.30 | 0.50
ER ap 1.0 5.0 1.0 .0 1.0 4.5 1.0 4k 10 5.0 1.0 50 1.0 5.0 = = 1.0 4= 1.0 410
THMA 1604, fn 015 | 0.45 | 095 | 0.45 | D45 | CL4D = = = = 015 | Q45 | 015 | D4E = = = = = =
ap 1.0 4.0 10 4.0 1.0 35 = = = = 1.0 40 1.0 410 = = = = = =
THEAG 1604, _ fn 0Ds | 035 | 005 | 025 | 005 | O30 | 005 | 020 | OO5 | 035 | D05 | 025 | ODS | 025 = = 00s | 020 | 0.05 | O.15
BF ap 1.0 E 10 is 1.0 3 1.0 3.0 10 3k 1.0 15 1.0 35 = = 1.0 30 1.0 25
TeBacqend_ | ™ |oio | o2s | oo (o2s | oto (=0 (oo | ozo (oo | p2s | - - - - - - | oo [o=a| - -
BL ap 15 1.5 1.5 15 1.5 o 1.5 3.0 15 315 = = = = = = 1.5 in = =
THBAG 1604 _ Tn 020 | 0.35 | o0 | 035 | 020 | O30 | 0,20 | 030 | 020 | 035 | 020 | O35 | 020 | 035 = = 020 | 0.0 | 020 | 025
BG ap 0.s a0 os in 0.5 Z5 0.5 2.5 os 10 (18 in 0.5 o = = 0.5 5 0.5 210
THMG604. | ™ |05 | 035 | o5 [pas (045 | o0 |oos [ 030 [ o945 | o35 | oas | o3s | oas | oas | - - |oas [z | - | -
BM ap oS .0 oS .0 .5 1.5 0.5 1.5 os .0 0.5 zn 0.5 210 = = 0.5 15 = =
TMMGY604._ | ™ |02 | 045 | 025 |pas | 025 | 040 |o2s | 020 | 025 | pes | 025 | oas | p2s | 0es | - - |o2= |pen| - -
BC ap LS 1.5 (LR 35 .5 EAL] (1 .o os 35 s 35 0Ls 35 = = 0.5 30 = =
THBAG 1604, n 0L20 | O0.50 | O30 | .50 | O30 | 045 | 030 | 045 | O30 | O.50 = = = = = = 0.30 | 0,45 | 0.30 | D40
ER ap 15 .o 1.5 3.0 1.5 2.5 1.5 2.5 1.5 3.0 = = = = = 1.5 Z5 15 210
THMG 2204, _ fn 0LOS | 0.20 | OOS | 020 | 005 | o492 | 005 | 015 | 005 | 0,20 | 005 | 020 | 0S| 020 = = 0.0s | 0L15 | 0.05 | 042
BF ag 1.0 4.0 1.0 4.0 1.0 35 1.0 .5 10 4.0 1.0 40 1.0 41 = = 1.0 35 1.0 3a
THMG 2204, _ fn 0Lz20 | 0.30 | O30 | 030 | 020 | 028 | 020 | 028 | O.20 | 0,30 | D20 | O30 | 020 | 0.30 = = 020 | 028 | 0.20 | 025
BG ap 1.0 4.0 1.0 4.0 1.0 35 1.0 .5 10 4.0 1.0 40 1.0 410 = = 1.0 s 1.0 k|
THBAG 2204 fn 0.20 | 0.0 | O30 | 0.50O | O.30 | 045 = = = = 030 | 0=0 | 030 | 050 = = = = = =
BR ap 15 4.0 1.5 4.0 1.0 a5 = = = = 1.0 40 1.0 40 = = = = = =
1604 fn 0.10 | 0.40 | OL90 | 040 | 090 | O35 | 0.0 | 035 | 010 | 0,40 | DD | 040 | OWH0 | D20 = = 010 | .38 | O.10 | 0.30
ap 1 5.0 o5 6.0 0.5 AL 0s 5.0 os 6.0 0.5 &0 0.E 6.0 = = 0.5 50 0.E 45
fn 015 | 035 | 015 | 035 | 015 | O30 = = = = 015 | O35 | 0S| D35 = = = = = =
VHMA 1604..
ap 1.0 in 10 in 1.0 25 = = = = 1.0 30 1.0 3o = = = = = =
YVHMG 1604 Tn 0.OS | 0.25 | OOS | 0,25 | 005 | 020 | 005 | 020 | QOS5 | 025 | 005 | 025 | O0S | 025 = = 0.0s | 0.0 | 0.05 | 045
BF ap oS .5 oS 25 .5 za 0.5 2.0 os 25 0.5 5 0.5 25 = = 0.5 zn 0.5 1.5
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0 e v oy | 15 60 1011 | 1243 14 1516 | 1748 | 2126 | 3137 38
g | 1112 13-14 15 21.23 22 31-32 23 7174 | 4153 16
ET1001 | 220 - 480 | 220 - 420 s - - 170 - 420 | 120 - 410 - - -
ETHC | 170-450 | 180-380 | 100 - 330 - - 120 - 300 | 120 - 280 - - -
_| ETec | 4180-380 | 110-350 | &0-300 - - - - - - s
5
£E| ETC | 150-350 | 90-300 | 70-250 | 120-220 | 50-180 - - - 35- 80 -
T| ET21P - - - 130 -230 | 100 - 200 - - - 30 - 90 -
ET23P - - - 110 -180 | 40-130 - - - 20 - 40 -
ETB01 | 120-200 | 70-230 | 70-180 - - B0-160 | 60-120 - - 40 - 80
Insart E E min | max | min | max min | maEx min | max | min | max min | maEx min | max | min | max min | max min | max
LL
VNG04 | ™ |ow | o= | o0 |oe2s (oo | oo | - - - - |oao | 0z oo |oas | - - - - - -
BL ap 1.0 25 1.0 2.5 10 2.0 = = = = 1.0 2.5 1.0 25 = = = = =
VMNMG 1604 n 020 | .20 | 020 | O30 | 0.20 | 025 | 020 | 0.25 | 020 | O30 | O30 | 0.30 | 020 | 030 = = 020 | 025 | O30 | 023
BG g 1.0 3o 1.0 30 10 2.5 1.0 .5 1.0 30 1.0 .o 1.0 3.0 = = 1.0 25 10 20
VHMG 1604 fn 025 | b40 | 0325 | O&0 | 0L25 | O35 | O25 | 035 | 025 | O40 | O35 | 040 | O35 | 040 = = OL2E | 0.3E = =
BC L] 0.5 30 0.5 30 0= 2.5 o5 2.5 0.5 3.0 0s 3.0 05 10 = 0.E 2.5 = =
YVHNMG 1604, fn 025 | 035 | 035 | O35 | 025 | 0.3 | 025 | 0.3 | D25 | 035 | 035 | 035 | 025 | 035 = = 025 | 0.31 | 025 | 028
BR ap 12 30 1.2 30 12 2.5 12 2.5 1.2 30 1.2 .o 12 10 = 1.2 2.5 12 2.0
WNMG 0604 fn 005 | k3o | O0s | D20 | DS | 045 | OO5 | 015 | D05 | O20 | ODS | 020 | OOS | D20 = = LS | 015 | 005 | o2
BF &p 0.5 1= 0.5 1.5 o= 12 os 1.z 0.5 1.5 LS 1.5 o5 1.5 = = 0LE 12 os 1.0
WNMGOsD4_ | *n [eo10 | 020 |00 | o320 (0o (025 (o010 |02 | oq0 | 020 |00 | 020 (o0 (D30 | - - | oA | o2 | - -
BL ap 1.0 25 1.0 25 10 20 10 20 1.0 z5 1.0 15 10 25 = 1.0 210 = =
WNMGOED4_ | n | o200 |40 | 020 (os0 (020 (035 | o020 | 035 | 020 (040 (020 | 040 | D20 |DeD | - - | 2o | n3s | 20 | D3
BG ap 1.0 25 1.0 2.5 10 2.0 1.0 2.0 1.0 25 1.0 2.5 1.0 25 = = 1.0 210 10 1.8
WHMA 0804 fn 015 | k50 | 095 | O.50 | 0L15 | 040 = = = = 0L1s | 050 | o115 | 0.0 = = = = = =
’ 3p 0.5 sa 0.5 s 0= 45 = = = = LS 5.0 o5 50 = = = = = =
WNAAS 0804, fn 005 | b3 | O.0s | 025 | 0.0 | 0.20 | 005 | 020 | 005 | O25 | ODS | 025 | OO5 | 0.2 = = D= | 020 | O0s | Os
BF ap o5 25 0.5 25 (1 20 o5 20 0.5 25 oS 2.5 o5 25 = = 0LE 210 os 1.8
WNMG 0804 fn 010 | 0.230 | 040 | O30 | 09D | 0.25 | 010 | 0.25 | 040 | O30 | 010 | D30 | &10 | D30 = = 0.0 | 025 | 010 | 020
BL B 1.0 30 1.0 30 10 2.5 1.0 2.5 1.0 30 1.0 .o 1.0 10 = 1.0 2.5 10 2.0
WNMG 0804 fn 020 | k40 | D20 | O&0 | 0L2O | O35 | O20 | 035 | 020 | O40 | D20 | 040 | D20 | D40 = = 020 | 035 | O30 | 030
BG g 1.0 is 1.0 35 10 3.0 1.0 3.0 1.0 3.5 1.0 3.5 1.0 315 = = 1.0 i 10 25
WNAAS 0804, 'n 015 | .20 | 045 | O30 | 0L1S | 025 | 045 | 025 | 045 | O30 | OS5 | 0.30 | D15 | 030 = = 1S | 025 = =
BM ap o5 20 L1 20 (1 15 o5 15 0.5 20 oS 20 o5 20 = = 0.E 15 = =
WhMGOoS0d_ | ™ |o=20 |05 | o020 (o35 (oo | 030 | o=0 | oo | ozo | oas | - - - - - - | o200 | 030 | - -
MM ap 1.0 30 1.0 30 10 2.5 1.0 2.5 1.0 30 = = = = 1.0 2.5 = =
WNAAG 0804, n 025 | LS5 | 0.2S | OS5 | 0L2S | 050 | 025 | 050 | 025 | OS5 | O35S | 055 | D25 | O.ES = = L25 | 0.50 = =
BC g 0.5 4= 0.5 4.5 s <0 os 4.0 0.5 4.5 LS L5 o5 4.5 = ILE 410 = =
WNMG 0804 fn 030 | beD | 030 | OB0 | 0.30 | O.55 | O30 | 0S5 | 0.30 | OO0 | 030 | 060 | O30 | 06O = = .30 | 055 | O30 | O.E0
BR By 15 50 15 5o 15 45 15 4.5 1.8 =a 15 5.0 15 50 = 15 45 1s 4.0
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VDI GROUP
O O | 1 82 10-11 12-13 14 15-16 1718 | 2125 | 3137 ag
EMG GROUP
e RO | 1112 13-14 15 21,23 22 1132 33 7174 | 4153 18
ETI001 | 220 -480 | 220 - 420 - ] - 170 - 420 | 120 - 410 - - ]
ETHC | 170-450 | 180 - 380 | 100 - 330 ; - 120 - 300 | 120 - 280 - - ;
_| emec | 180-380 | 110-350 | 60-300 ] - - ] - - ]
£
$E| ETC | 150-350 | 90-300 | 70-250 | 120-220 | 50-180 - ] - 35 - 80 ]
“| ET10D - - - - - . ; 350 - 1200 - -
ET10U ] - - ] ] - ] 350 - 800 - ]
ETBI | 120-200 | 70-230 | 70-180 | 60-180 | 60-150 | 60-160 | 60-120 - 35-60 | 40-80
Insart E E min | max | min | max min | max min max min | max min | max min | max | mn | Mmax | min | max min | max
[
coeToore. | = | - - - - - - - = = - - - - - |moz |p3s| - - - -
AL 2 - - - - - = = - - - - - s [am | - - - -
ceeT2oa | = | - | - [ -1 -1-1-1-1-1-1-17T-T17-71-1-Tem2fess]-1-71-T7-
AL ap = = = = = = = = = = = = o0s is = = = =
CCMT 602 ' Oos | 045 | DOs 0AS | 0.0= 012 | 005 | 0.42 | D05 | K15 0.0= | O.15 | 0lDs | 0.1 = = 0.0= o1z = =
BF ap 0= 15 os 15 0.5 10 0s 1.0 os 15 0.5 15 (1 1.t 0.5 1.0 =
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